September 28, 2011

Warm-Up:
. Graph: y<ix+2

2. Graph: 2x-3y=6
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9/28 - Graphs of Absolute Value Equations

Reminder:
|x| =1 [x+3]=2
T= x="7
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Graph.

y=|x|

When in doubt,
t-chart

e K| < >

N
N - — OC

"Parent Graph’




How did it transform?
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Graph.

y=|x|+1

How did it transform?
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Graph.

y=—|x|
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How did it transform?
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Graph.

y=|x-3|+2
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How did it transform?




Graph.
y=—|x+l|—2 y=—|x—3|+1
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Graph. il
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What does the 2 do to
the graph?




Find the vertex of each without graphing.
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y=|xa§nl|+3 y= +4
y=—|x+4|—5 y=%x—3‘—6
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